# Division with Partial Quotients Name:

Solve each problem. Answers

1) 2) 3)
4| 37 8| 240 6| 515 .

9 6] 60 9 817 % 6| 918

N 5| 672 8 5[ 25 9 2[31

1-9 |89]|78]67[56]44[33[22[11] 0 |
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Division with Partial Quotients Name: Answer Key
Solve each problem. Answers
D 4|37 2 8| 240 Y 6| 515 . o1
-36 9 -240 -480 80
1 0 - 35 ) 30
-30 5
T 5 3. 85r5
4 10
5. 2rl
6. 153
2) 6@ 5) 8’? 6 GW 7. 134r2
-60 10 -16 2 -600 100 8 5
0 1 318
300 50 0. borl
18
-18 3
0
0 5672 8 5[ 25 9 2[31
-500 100 —25 5 —20 10
172 0 11
-150 30 -10 5
22 1
-20 4
2
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# Division with Partial Quotients Name:

Solve each problem. Answers

2rl 10 30
153 9rl 85 r5 1

1) 4’? 2 gl 240 3 6| 515 2

4 6| 60 5 8|17 6) 6| 918

Modified 1-6 [83[67]50[33]17] 0 |
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